Q
N

AF

0.7
— AF
06 == random

0.5
0.4
03

0.2

Jaccard Index [intersect/union]

0.1

13 20 40 60 80
p—value threshold [107]

MF

0.7
— [
06 = random

0.5
04
03

0.2

Jaccard Index [intersect/union]

0.1

0
13 20 40 60 80
p—value threshold [107]

b)

0.7

0.6

0.5

0.4

03

0.2

Jaccard Index [intersect/union]

0.1

0.7

0.6

0.5

04

03

0.2

Jaccard Index [intersect/union]

0.1

30

AL AM

0.2
— A
e random

018 e random

0.16
0.14
0.12

0.1
0.08
0.06 [

0.04

Jaccard Index [intersect/union]

0.02

20 40 60 80 13 20 40 60 80
p—value threshold [10~] p-value threshold [10™]

ML PO

0.7
— i}
e random

e PO
06 e random

0.5
04
03

0.2

Jaccard Index [intersect/union]

0.1

0
20 40 60 80 13 20 40 60 80
p—value threshold [107] p-value threshold [10™]

significance FDR—corrected g=0.01

significant
not significant

40 50 60 70 80
p-value threshold [10™]



